TSPSC: Divisional Accounts Officer (works) Grade-ll Paper.| Examination-2022
Held on: 26-02-2023

From where to where the “Rajoli Banda Paada Yatra” was organised in 20032

(1) Gadwal to Mahabubnagar

1

Answers are circled in Red Colour

(2) Nagarkarnool to Wanaparthy

(3) Alampur to Gadwal

(4) Wanaparthy to Gadwal

200360 AYErR0cS 26N “T9e538) 206 Dats Offes” QG V06 DEES §ReA0B?
(1) tieR@® 006 ShTearediib '

(2) eitib §tir,d "ol DY
(3) 20576 08 timed
Jay 58558 #00d Hemd
2. Who among the following was the Chairman of Congress Party's Telangana Legislators
Forum established in 19927
(1) K. Jana hedclv (2) V. Jagapati Rap
[3] P. Janardhan Reddy (4) G. Chinna Reddy
199265 o9,En BRI 5203R 8 Seomss ﬂe&mﬂiﬁd 850 at&én'a 8 808 ajaﬂej'ﬁ .;asﬁti:
S0GR?
(1) 8. e 36 (2) 3. BHHS TS
(3) . 3/ YS B @)z 27,88
3

Consider the following in relation to the 22 languages part of the Eighth Schedule of the
Ennstttutmn of India:

A. Only 16 languages were initially included in the Constitution.

B. Sindhi language was added in 1967,
€ ankani, Manipuri and Nepali were inc!uﬁed in 1992,
D. Bodo, Dogri, Maithili and Santhali were added in 2004,
Choose the correct answer: .
(WA, B,C&D

(2) A &Conly

[EJE..E&DnnIv (4) B & Donly -
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G TERONOSH) QRS NERGER 22 pRAOE “oxohod) & S08 &R
2bticdodo: .

A. TeER,0108° SntSe) 16 ZRsien drga DG G0N

B. 206 27031 196768 586050600

C. 520568, 630, daee) 199268 Ji,ERaD

D. 25368, &80, 0B, Boeed 200463 LBG0SVEROD
- $3% 2R a0tHEod:

(1 A,BC&D (2) A & C Sedad) @B,c&na’méc'& (4) B &D e
Read the following statements regarding education in India:

A. Education is part of the state list.

B. Provisions related to education can be found in Part lil of the Constitution,

Select the correct statementl(s):

(1) A only (2) B onty (3)BothA&B
el CidodB 8)es,H Howokhod & Lod @ SESod:
A. )5, Do) exél@edd griio.

B. D Howofodi Awodded ;e efodi apd Il &° dnsHs),.
NP aRA©)N dohEod:

(1) A Sgbad

(3) A & B ot

(4) Neither A nor B

(2)8 &SngH
(4) A & B G053 Soa))

Consider the following in relation to the Financial Emergency under the E-::nstitutfun. of
India: '

A. It can be proclaimed by the President of India under Article 360 of the Constitution,

B. Under this, all Money Bills to be reserved for the consideration of the President after
they are passed by the Legislature of the state.

Select the correct statement(s):

(1) A only  (9Bonly (3) Both A &B (4) Neither A nor B
eREe ToeRR0tio 5380 BRY WEEHY HOPSS KHoD0H0N & 08 PR HdHSoSoa:

A. 022R,01065%) ©DES 360 Hseio get5Es TS B HEB 055,50,
~ B.OR 000, 0o 3957508 @ BRO 0D Suses ©f, (s

_ £euen TRRNDHA HBBLHL Bay
DobHetsson. ¥ %

VPN AN D0HS80E: ,

(1) A P& (2) B Sesab @A & B Dot

(4} A &B Boti g
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The Article 19 of the Constitution of India provides all citizens to have following rights, but
one of the following is NOT a part of it?

(1) to freedom of speech and expression

(2) to assemble peacefully and without arms -

(3) to move freely throughout the territory of India |
(4) equality of opportunity in matters of public employment

antie ToeRotoH%) @OES 19 Fetheotds & §0d PHeMH ¥8)008, ©ond & §08
E365 2,583 eAEY greifo seeh?

(1) &8 AREB0B 0, RN SEHe

(2) o&anéorms, sapeen 8505 HieadsnSso
(3) GRS gireRiio WoR Al 3o

(@) a0 6031 DA0TReSS HERS Visemeen

Justice G. Rohini Commission is related to the:

(1) Sub-categorisation of Other Backward Classes (OBCs)
(2) Sub-categorisation of Scheduled Castes (5Cs)

(3) Women reservations in the Central Government Jobs

(4) Women reservations in the Central Government Educational Institutions
23R e2. 5932ed ¥2AM HAS Ho20HoDHEA:

()ass 3sed:s Sttidhe (0BCe) &35-5655:
"2 ARG Hene (SCo) EH-5HETe

(3) Sog Hehe eBimees sharwe B30
(4) SogS HeHes Howy HOPSP sharwe B2:0:M

Read the following statementsin relation to the Second Administrative Reforms Commission:

A.1n order to eradicate the major source of political corruption, there is a compelling case
for state funding of elections.

B. A system for partial state funding for elections should be introduced.
C. A system for full state funding for elections should be introduced.

Select the correct statement(s):
(1) A oni
) A only (2) A &B only
(A&C
only (4) Neither A nor B nor C

[PT.O iy -
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50655 HBaPROTe K008 SNSH K020503) §08 ALY S0 2
Aceedoh ©D8 Hd Swend, ARJoSmS, IQYEOD TG Ay
D) T8 ©S5HB0 8:5,:0m &0,
B. R, 50tH 8K ey AiHen KhERd, &8 Jgpmed S 2gyed.
C. S0 5720 Peonei Teay tHen N0ERG, Dperred), SaE 2eged).
RO aR@) )k d0HE80d:
(A Sega
(2) A & B smeegda
(3) A & C seedad
(4) A, B & C s3et5) s3¢5)

Who is the chairman of the NITI Aayog?
(1) President
(2) Minister of Finance

(3) Prime Minister

(4) Minister of Planning and Development
QB e@Rh FU,S 5tH?

(1) TeRHS

(2) EQE 8008

- {B) 5w shog

(4) D5, 0D 08

Consider the following in relation to the administrative Setup of the Special Economic Zones
(SEZs) in India:

A.The Board of Approval is the apex body. It is headed by the Secretary, Department of
- Commerce; Government of India.

B. Each Zone is headed by a Joint Secretary, Department of Commerc

€, Govt. of India who
is ex-officio Chairperson of the Approval Enmrmttee

C. The Approval Committee at the Zone level deals with thea
Choose the correct answer;

(WA B&C
(3) A& Conly

pproval qF units in the SEZ,

(2) A& B only
(4) B & Conly
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LROSHE05% DEE 0B DoY) (SEZen) HBFvAT ALDY KHow0Hod 83 08 &t
5Tolgtlotalelmt -

A 2% B9 ORI IO VDE, erc. HY VHHSM Y Hehe, avedey Y VEWO
&otRid.

B. 98 &3R5 ean0t) ERD, apedes; wow), gRUS HEHE0, a0 Sl WHRHS
038 2§ 0dHAdir 36D56,5m SotR.

C. 289 Poan B3R OERHES e} VEGEI AhrIRK ©ARA0H VoK SRFOA.
X0 eapeni A0LhER:

(1A, B&C (2) A &B SR&gaD (3) A & C seefad) (4) B & C &0¢fad

1. Which one of the following is NOT correct with regard to the population policy of Indla?
(1) In 1952, India was the first country in the world to launch a national programme,
emphasizing family planning.
(2) The National Health Policy, 1983 stated the replacement levels of total Fertility rate,

(3) The immediate objective of the National Population Policy (NPP) 2000 is to address
needs for contraception, healthcare infrastructure, and health personnel.

(4) The long-term objective of the NPP-2000 is to achieve a stable population by 2050,
gRUSAHE aanen AeRARAS Hoofod S0 artIdt A HFHO soth?

(1195268 Htwow Aahognd EASIIR 2rda) sdEhnl), FPUoflods,
DN0S0H Anese o eroSAH0.

(2) en@ah ©B%H, R0, 1953 Ao HoerF?E,E Gty YD Fane H5208,

(3) 2o &ah esaeere Aeio (NPP) 2000 Ron GIng, S5k E},iéﬂ ﬁq}mﬁﬁqﬁn. @59, dotEea
S Heharairen, @bt 22,00 ©SITRN S)co.

(4) NPP-2000 B 50D ©F0 2050 o638 DUR arerid OO,

12. “Incredible India’ is the tagline of the following:
(1) Ministry of Culture, Govt. of India (2) Ministry of Tnls;rism, Govt. of India
(3) The Archaeological Survey of India (4) Ministry of Aayush, Govt. of India
‘ansdend goéae ©Hk $08 WA erHde:
(1) 0K, BY oS T, gROS H20SO
L) S o8 Fom, gRUS D2DE0
(3) €8, afREES HO, B ROLAH
(4) cuing o8, o), RS SO
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14.

he NIT & , i1 lusion involves the iImproving
the NITI Aayog's ‘Social Inclusion Report 2027, social inclus! . g
Asperthe

: ' wing aspects:
of disadvantaged sections of society In terms of the following
igni
A. Ability . B. Dlgn Ly
nities
C. Subversiveness D. Opportu

Select the correct answer: i
(1) A,B&Conly (2) C & D only (3) A, B, & D only (4) A B,

98 ©@Rh SR HNPS ISOE- 2021 HsoBo VRES HnPes IO & §od
90590 HBOMR, H57P20652 S0EEH Sgeoih HHIHVTVEO:

A. 0 B. 385,850 C. B8R0 BNGINELICEY
2GR 23592000 0eHHTRNE:
(1) A, B&C&SPRGD  (2) C&D g ﬁ]n,&,&naﬁn@@ (4)A,B,C&D

Which of the following new categories of offences had been inserted in the Scheduled
Castes and Scheduled Tribes (Prevention of Atrocities) Amendment Act, 2015?

A. A refusal to deal with work for hire

B. To deny the opportunities or accesses to services

C. To abstain from professional or business relations

D. A refusal to listen what one is saying or singing

E. To abstain from social relations that one would maintain with another person

Select the correct answer:
(1) A, B & C only

(2) A, B, C&E only
(3) B, D & E only

(4) A, D &E only

ARG Hepen, RERG Stie (@@egEmed A035E) S0 8o, 201560 &3 06 &2636559, H
5088 J0eeN LT,EA0N?

_ A.80e0n8 HAA DHWEAS 8FF,B05E0

B. R3I0OX 0ise@end &5:,00:5650

C. 8 DU S ap@nd Q020G LiRYoMm &S00 -
D. 2,5th Jax@ B REH DRI AoeEBSE0

E. 200K 5,86° A0 Aesieess Ho2050e aﬁuc:-c't trrdore 6okt
R0 eRENRD A0HEND:

(1) A,E&ca’maéa

c (2) A, B, C & E 832¢85D
{3) B, D & E sirsiah

(4) A, D & E &508831)



B,

16.

4s per the NITl Aayog's 'Social Inclusion Report - 2021, which one of the following states
has made substantial progress in achieving improved health outcomes .and has lower
megualities in healthcare across social groups compared to other states?

(1) Bihar

(2) Uttar Pradesh
(3) Kerala '

(4) Telangana

A8 ©0iRh ‘Weiiees Ka0 AFHE-2021 G550, & §06 TegpeSD HO MBHJKS ©BOH;
PPN PHOSE0HE Hdah HDHSY F009), S mﬂw@ﬁ 5D Aesireesy
ETRSTBRIGR 03¢ HoBEReR &5, vbSRNSHD §OA sod?

g

(1) 25555 (2) 6856 HB5 3) 85 (4) BOOMRD

What are the functions of Central Advisory Board on Disability?

A. Advise the Central and the state governments on policies, programmes, legislation and
projects with respect to disability

B. To make policies, legislation on persons with disabilities and implement them

C. Take up the cause of persons with disabilities with the authorities concerned and the
international organisations

D. Recommend steps to ensure accessibility, reasonable accommodation, non-discrimination
for persons with disabilities

E. Monitor and evaluate the impact of laws, policies and programmes relating to the persons
with disabilities :

Select the correct answer:

() A, B,D&E only (2) A& Bonly

(3)A,C,D &E only (4) B,C,D &E only

S0¢ Q¥erothe HeEs 9% DeHBDE?

A. DR A8 H020602 e, SeUFne, Sipe, PEHOD S0l ey HehereH
DO QG0

B. Q¥enothed H020H0D tyee, Heparen HRaR0H 0D areld) ©aen 3aHeo

C. D¥eRotHOH Ho20HOAN VoD J0W0HE VY HoPHe, YoSTPAH KHoPe
8 SHTIHEO

D. S8R0 &, SEHOH DHEeS BHOGe DewgRy, SR RSN SHiehen SenH@ohmed
AaRten wohiso

E ¥enothed Ho205098 Sepen, Jgeaeen, SeiEne Haraed, HYagoso,
shReR0EN0-WahE0 ;

P03 B35Pe0M) Q0cHERDE: |
()A.B,D&E Sngd (2) A &B s
(3) A, C, D & E 37egsad : (4) B, C, D & E &ipeghad

[P.T.O 9
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18.

What are the objectives of ULJAWALA scheme? ‘ ki

A. To prevent trafTicking of women and children for commercial Sexu

5. To facifitate rescus of victims from the place of
custody o

C. To provide rehabilitation services, both immediate and long-term to the victims

D. To fecilitzte reintegration of the victims into the family and society at large

E. To facilitate resettiement of cross-border victims in destination country

Select the correct answer:

(i) A,B,C&Donly (2) A, B & D only

(3) C& E only (8)A,B,C,D&E
6573 (ULEWALR) S50 o52en Ded? “‘

A. areBes 30 Bohis G536 5800 Hirten, Hwe 0D Saemesh A0S0

B. 2r0&0H) =0 656 $90 H0é 6809 209 USSP J)B06Y0 6505650
C. 2PHEH0D 58, BUSE HSmans HdesH ©0B0SEo '
D. 2R &0 $HEN0230, K0S HFJ0H8S0 Sahio

E. 0025 mréld 2rféhes 650205 S48 HSmeando §8),055¢50

M0 2572080 )0chHERRSD:

(1) A, B, C &D & (2) A, B & D &5o¢sah
(3) C & E Smésa @@a.B.coaE

Which of the following states and union territories top in percentage of anaemic children in
the age group of 06 to 59 months as per the National Family and Health Survey-5?

(1) Gujarat and Ladakh, respectively

(2) Bihar and Andaman & Nicobar Islands, respectively

(3) Uttar Pradesh & Lakshadweep Islands, respectively

(4) Chhattisgarh & Dadra & Nagar Havelj, respectively

280D Henow, B K35 Gseii0 06 M0 50 AR HoNK)e58 5
= &0y 0¥ ai5és tiey 2
S068° &2 06 méﬁﬁﬁ;ﬂﬂ'ﬂ‘@n, 8015 208 F00 wif 2 203 tie ape

0 aRoess &aJe,0n?
(1) SERNm DS, 0is q 45t

(2) SHidm DS, rac:ﬁi&’asﬁﬂﬁmﬁ Bshen
(3) BNV &S8 B8, 0% AsHen

{4) Sthame ﬂséﬁ sk, TRLR-73H45 538

+heir exploitation and place them in safe
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Which of

(1) Krishna (2) Godavari (3) Maneru (4) Musi
e°03 PaRS,080 B mRGesm P0G HO AEB?

(1 Egp @ﬁﬁméﬂ (3) ST (4) Sy

20.  What was the Khilat practice under the Qutb Shahis?

(1) Judicial practice (2) Robe of honour

(3) Sword of honour (4) Garlanding

$e0)85 e KSR Dend R0gme0Ho ©os) ASHE3?

(1) FROHHOLIOGFN Barto ()6 Ko ehiven
(3) (20 &0 (4) yp0 ¢50¢5 Sahso

21'7,- The term "Putakutillu’ refers to which of the following during the Kakatiyas?

22,

(1) Outcaste settlements (2) Cultivators' settlements
(3) Feeding/Resting Houses (4) Prostitutes' houses
BpeERden’ ©d Htio se¥Bafe seod? 306 aeeled GAR) ma@ﬂﬂ?
(1) 26328) , e Brared REIB,06m (2) ethrrthe VEIS080
(@ e /50 HjETBen/efSmoen (8) S Hyisen
Which of the following tribe celebrates Seetala/Sheetal festival?
(1) Chenchus (2) Lambadis
(3) Nayakpods (4) Konda Reddis
200 anBoh Bo/88S HotHHD BHDHS Bt 26?
(1) BocHen (@)ooerden
(3) meoHEEen (4) §%0d5 O

23.  Which of the fuﬂnuuing is the first Ramayana in Telugu?

(1) Bhaskara Ramayanam (2) Ranganadha Ramayanam
{él Molla Ramayanam (4) Abirama Raghavam
208 28369° BenthHe® wese3 DesP0NE0 DB?

:@Eﬂ:ﬁ&ﬁ Teai7eaNE0 ; (2) Bot5rzees Tesireahea0

_,!31 a0e) TralraDEI0 R (4) ©@g)Uesh TeyH0

[P.T.O

the following rivers was described as Telivahana in Buddhist literature?

n
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Struggle?
24, Who was the first Martyr of Telangana Peasants Armed ge

(1) Miskin Al (2) Shaik Bandagi

(3) Chityala Ailamma (4) Doddi Komaraiah

So0mees Jepolf Jeafne F50ee088 08 VDI JBHW?

(1) SbR,S @) (225 2061
(3) Der@ a:;ua'n& (@)eng Svnto
~ 25.  The Girijana warriors Sammakka-Saralamma fought against which of the following Kakatiya

ruler?

(1) Rudradeva/Pratapa Rudra - | (2) Ganapathi Deva

(3) Rudrama Devi (4) Mahadeva

N02: Girehen NskyE-Jedosy, & se¥8ah JPeHAs S@5%om sTermnth?
() HEES/ENE e Hihes (2) HeaH@ B |

(3) hH B (4) 9EeHED

26.  Which of the following is the correctly spelt word?
(1) entreprener (2) antrepreneur

_@entrepr&neur (4) entreprenuer

27, Which of the following is grammatically correct sentence?
,H_} We have been hearing loud sounds of drum-beating since morning.
@ My friends have undertaken a project on the Present voting system a few days ago,
(3) Nithin was usually spending his free time in the park.

(4) My brother and | are the owners of this property.

28.  Which of the following is the antonym of ‘celibacy’?

() marriage " (2) celebration
E} ritual (4) sainthood
29.  Which of the following is the Svnnnym. of ‘adroit’?
() frugal : @ skilfu
(3) doubtful
(4) dreadfu|
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3p  Which of the following is the correct meaning of ‘resurrection’?

@muiual (2) departure
(3) remedy (4) difficulty

31, Which one of the following words is correctly spelt?

(1) necessarry @ﬁnt&nance

l?] remidial (4) commitee

32.  Which one of the following sentences has the correct punctuation marks?

o @I don’t know why they are protesting against the policies of the Government.
(2) We are not sure when the elections will be conducted?
[_?;} How pleasant the weather is?

(4) It Is said that ‘Rural Life is better than Urban life!

33,  Which of the following has the correct punctuation marks?
(1) What an interesting twist the sfurn,r has?
(2) He asked "which is the most poisonous snake.”
3) What a beautiful insect it is!
The Doctor asked a patient "Are you a non-vegetarian™?

35,.r Which one of the following sentences has the correct punctuation marks?
(1) "Divith said,” | like Abdul kalam’s speeches.
(2) Divith said: 1 like Abdul Kalam's speeches.
(3) Divith said; 'l like Abdul Kalam's speeches.
Diuith said, "l like Abdul Kalam’s speeches.”

35. Consider the following statements:
(1) Either Rahul or Neha is likely to win in the final competition.
(2) Neither Kranthi Kumar nor his brother are interested in cricket.
{3) One of them are very adamant in their behaviour. .
(4) One of her friends has made arrangements for the meeting.

Which of the above statements are grammatically correct?.

()1and 3 @2 and 4
~Bi1and 4 (4)3and 4

o =
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36. Consider the following statement_st

Word Meaning

a. atheist 1.study of stars .

b. astronomy r 2. one who does not believe in God
C. demﬁgraphr,r 3. study of evolution of mankind

d. anthropology 4. one who looks at the dark side of life
— : ~

e. pessimist - B, study of statistics

-

Choose the option in which given pairs are correctly matched:
(1) a-5, b-2, c-3, d-4, e-1
“f2)a-2,b-1,c-5,d-3,e:4
(3) a-2, b-1, c-4, d-5, e-3
#
(4) a-5, b-1, c-3, d-4, e-2

37.  Arrange the following sentences in a logical order:

a, It was discovered that many customers have tried the shampoo and liked it too.

b. A survey was conducted among different categories of customers in fo

_ ur major cities of
our country. :

C. It is available in 1000 ml. 750 mi, 500 ml, and 200 m| bottles,
g. Suraksha Shampoo was launched in four sizes,

(cb,ad (2)b,a,cd
E;'J’g__ﬂ:l l:_'ra . [4] a;d, c.b

jﬁ. Consider the following pairs. °

Word Meaning

a. panacea . 1. important

b. bankrupt 2. remedy for aj| ills or difﬁt:ulties

. 3. capable of being Controlied

“4.reduced to 3 state of financjg] r.uin
Choose the option in which the given pairs are cg

' @a-z, b-4, c-1, d-3
g {2} 3-3; h-1, c=-4 ‘d_z
(3) a-4, b-1, c-2, d-3 ;
{ﬂ‘} 3-3, h'E, c__‘l’ ﬂ"d
T 1

¢ salient

_'3,-‘- malleable
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39, Consider the following pairs.

Word Meaning
a.amicable 1. cowardice
b. alienate 2. enough
c.adequate 3. isolate
d. timidity 4. friendly
5. hostile

Choose the option in which the given pairs are correctly matched.

[1} 3*31 b-l E-'aj d'E “@a'ﬂr h~3‘. ;:2. d"]:
(3] E"?-: b'dr C'E‘: ﬂ-3 [&] 3'3, b"h ':""q'j d'z

40. Which of the following is a correct plural form?

(1) brother-in-laws @man-semants (3) womens (4)geese
41.  Arrange the following sentences in a logical order;

a. Thestated response of most ecanomiststosuch asituationisto advise mas

siveretraining
of the workforce.

b. Computers are making inroads into our society whether India is ready for them |':~r not.

¢. Each one of these has the potential to displace entire chunks of the workforce,

d.In addition to them are potential threats in the form of office automation, artificial
Intelligence machines, factory automation, and so on,

e, Unless it Is taken up, this tech nology is going to affect the unskilled workforce,

especially.
(Md,ebac (2)c,ad, e b (3)b,d,c,a,e

(4)a,e,d,c b
42, Consider the following.,

Word Meaning

a. accrue lgreedy - =
b. shrink 2. warmth of feeling

C. avid 3. accumulate

d. ardent | - 4. easily broken

_&.fragile 5. contract

Choose the option in which words are correctly matched with their meanings,
@2-3,b-5,c1,d-2, -4 (2)a-2, b1, c-5, d-4, e-1

(3} a-4, b-3, ¢, d-2, e-5 (4) a-1, b-3, c-4, d-5, e-2

[PT.O 15
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: ¢ 'admonition?
43. Which one of the following is the antonym of the word ‘adm

(1) warning (@request ' (3) threat (3) tear
4. Which of the following'is the synonym of the word ‘sabotage’?

(1) create @hinder

(3) influence (4) follow

45. Consider the following.

Word : Meaning
a. flutter 1. unbeliéuable
b. foster 2. to promote the growth
_ c;g_ncredihle 3.toflap
d. appease 4, pacify
Choose the option in which given words are correctly matched with their meanings.
(1) a-4, b-3, c-1, d-2 (2) a-3, b-4, c-1, d-2
(3)a-1,b-2, c-4, d-3 @)a-3,b-2, ¢, d-4

45./ Which one of the following sentences has the correct punctuation marks?
(1) Arun, says Vinay, "what is your opinion on this proposal?”

@Eheeshma says, "Dinesh, is it necessary to remove this point from the draft?”

(3) “Murali asked his father” Can we solve this problem through some ot

her way?
(4)"What an interesting coincidence it is2”

said the guide.

4?./,wmch one of the following sentences has the correct puncty

ation marks?
(1) The Dactor asked the patient,

“Are you'mentally Prepared for

! the surgery?”
(2) Doctor asks, “How strong your body 2"

(3) "have you intentionally misled the client” the lawyer

questioned the culprit.
(4) “indians are known for their traditions ang Cultured>” :

says he,
48. Which one of the following words js correctly spejt? '

(1) intensional
(2) cummitee

(3) interogation

persunnel
e
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243 Which one of the following options has the correctly spelt pairs of words?

(1) corilation, idealogical
@questin nnaire, alternative
(3) incalcate, felicitetion

(4) athentic, agment

50. Consider the following statements:

B,

((1)He neither knows English nor Hindi

(2) Seeing the police the thief ran away and escaped.

(3) My friend, along with his sister, have been searching for the address since morning.

(4) If you pay attention to the instructions, you will be able to answer the questions with
ease.

Which of the statements are grammatically correct?

(1and 3

(2)2and 4 i

~{3)1and 4

(4)3 and 4

Arrange the following wind energy producing states based on their installed capacity in the

~ descending order in 2020:

A. Maharashtra B. Gujarat C. Tamil Nadu D. Karnataka
Select the correct answer:
(WA BCD (CDBA 3)CBAD (4)B,D,A,C

2020 7838 tfe S o Bapathid VXY 0 GFRBOMS, & S08 H35 WD A S
TR ©5095ees e00e¥® @shil)ain:

A. SE5s0e8) B. he:0e& C. ST - D. 503,08
TN @R Q0HERIED:
(AB,CD . @CDBA @)c.BAD (4)B,D, A, C

[P.T.O 17
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2. Match the foliowing lzkes with their locations:

Lake Location
A. Sasthamkotta 1. Uttarekhand
B. Roopkund . 2. Ladzkh
C. Nako 3. Himachal Pradesh
D. Pangong Tso 4. Kerzla
5. Sikkim

Select the correct answer:

(1) A-4; B-1; C-3; D-2

(2) A-3; B-1; C-4; D-5

(3) A-4; B-3;C-2,D-5

(4) A-2; B-4; C-3; D-1

83 B00 DB el roerodt eddhan:

P8R, erodo
A. D05 1 a@dgorpol
B. i Hol 2. OCRg
C. A9 3 endndd 543
D. oneoh A a.§06¢
5 80
RO ERENRL Q0 ERRDA:

@)A-4; B-1; C-3; D-2
(2) A-3; B-1; C-4; D-5
_3) A-4;B-3;C-2; D-5
(4) A-2; B-4; C-3; D-1

53. Whichof the following biosphere reserves is NOT on the list of UNESCO Network of Biosphere

Reserves?

(1) Nanda Devi (2) Manas

(3) Nokrek (4) Similipal

£ 200 282 D 20IR,0H5 B8 A3, 201RR)0H5 058, e &y
(3 S0 89 @ 5755 Bse
(3) S48 (@) DDDRS


8923917
Oval

8923917
Oval


54.  Inwhich forest types of India, one can find the comme rcially important cinchona tree?
(1) Montane forests ‘

(2) Tropical deciduous forests

(3) Tropical evergreen forests

(4) Mangrove forests .
gRUSHF0HN D wdd Usegd amedessitsormn 0g)gHR), V05T BeRD tretiaitin?
(1) &R08RN O -

(2) 6QsD0EL GHTE, We5Hen

(B) &sisnotie e 508 O
(4) D& @SahHen

"

55. What is the length of the Hyderabad Metro Rail (HMRL)'network as of November 2022?

(1) 51Kms (2) 57 Kms (3) 69 Kms (8) 72 Kms
2580205 2022 7738 greSeerb Be38 3 (HMRL) Be5E, D) 08 6,02
(1) 51 8.80en (2) 57 8.80ew (3) 69 8.8bew (@)72 8. &ven

56, - Arrange the following districts based on their percentage of forest area coverage in
descending order:

A. Bhadradri-Kothagudem
B. Jayashankar-Bhupalapalli

C. Mulugu

D. Kumuram Bheem

Select the correct answer:

)B,ADC ()C,AD,B 3)GBAD °  (AADGE

% 300 epid) T8 ©d HTe TEed), 1 V0% hodd w:
A. BIERQ -SSR E0
B. 830D 0¥5- 80N

C. awenth

D. H¥nio o

VTR 23BN )0eDERA: |
(M B,A,D,C @rc.ADB . (3)GBAD (@) A, D, C, B

[PT.O 19
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57.

- B

Match the following tourist destinations of Tel2ngan
located:
Tourist Destination District
A. Pakhal Lake 1. Kumuram Bheem Asifabad
.E- Saptagundala Waterfalls 2. Warangal
C. Ramagiri Fort 3. Nalgonda
D. Devarkonda Fort 4. Peddapalli
Select the correct answer:
(1) A-4, B-3, C-2, D-1 (2) A-2, B-1,C-4,D-3
(3) A-1,B-2,C-3,D-4 (4) A-2, B-4, C-1, D-3
B0 §00 HTGE F0&ND O &), 2R BEHTS0:
2Tb¥ Feodo 2o
A. oS0 HEHD, 1. H5080 g GRPeRE
B. M)thotee aeaepaen 2. StotieS
C. ;esNB 5% . 3.5¢R0¢
D. 3E8R0¢s 8§9¢) 4. 26558
R0 e3aReNR 0cH880d:
(1) A-4, B-3, C-2, D-1 @A—z, B, C-4, D-3
(3) A-1,B-2,C-3, D-4 (4) A-2, B-4, -1, D3
::Ir}h.::i:: ::::E ORI TRt s belongs to Il'jctﬂralftidalfswamp forest?
(2) Mangrove forest
(3) Tropical deciduous forest
(4) Tropical thorn forest
% 308 ot S5 50 ﬁmﬁ@ﬁﬂ!&ﬁﬁ&mﬂﬁ& OGHeH 3
(1) 80 @& 0&RE?
@D 0t X
(3) &aDO G0}, ©E
(4) QDO Y ©5

5 with the district in which thq, "

(]
.
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=g Comider the Toliowing statements with regard to Telangana geography:
&, Tetangana falls under semi-arid region and has hot and dry climate.

8. Winter season in Telangana is dry and mild.

C.Lowest temperatures during winter season are recorded by northern Telangana as
compared to southern Telangana region.

D. Highest temperature of the year in Telangana is recorded in the month of May.

Choose the correct answer:
(1) A, B&Conly (21A&Conly
[3) 8B &0 only A, B, C&D

doomem (RYE voreh Honofod Sob g Hoikosod:

A Boomm S @4, Srodo fodn Sod Do I8 NG Mevidne A0
G000,

B, deoreradid 2aeseeo dedam, Shod SyO0m &owwold.

¢, Benpowodt Gin doomn Srodod® N0Y 680 Svomndd vEE, GRetEw
edIBLIE) EFR 00,

D, BROMROY H0HE G0 wE Mt agitden & Sndodt Sandeion.
5% HAPEIHO dohEtol:

() A, B & C smad (2) A & C dindad

{3) B & D sngdad .E,C&D

Mﬂﬁiﬂ Besant was associated with
{1) Ramakrishna Mission
{2) Arya Samaj
{3) Thepsophical Society
{4) Prarthana Samaj
B0 HVS? Sowoo SO &0
N onE R DAV
) &8, Sdee0
@ a5 a0 (BARRDSS 208)
- Deiiam Dm0
= [PT.O 21
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" ¥,
61 Who among the following was a moderate Congress man:

ini utt
{1} Rajnarayan Bose (2) Ashwini Kumar D

(3) Aurobindo Ghose (4) Gopala Krishna Gokhale
800 088 et 2000 S8 52
(1) DoeS ARTRONES 555 (2) 93 HRd &
(3) ©8D0B8 JmE ORESRED
62. _The Secret-Society founded by V.D. Savarkar was known as:
-~ (1) Yuganthar (2) Anushilana Samithi
(3) Abhinav Bharat Society (4) Krantidal
3. €, MBHYD Fo20DH BERK, 505 ser HIJaed:
(1) afureoshb (2) @3N HLS
@mé’;’]?ﬁﬁ aR8& et (4) 208K
63. Match the following persons with the activities that they have been associated with:
Persons Activities '
A, Lala Lajpat Ral 1. Gadar Party
B. Bal Ganpadhar Tilak 2. Memoirs of the Life and Times
C. Bipin Chandra Pal 3 Geeta Rahasya
D. Lala Hardayal 4 Simon Commission
Choose the correct answer:
(1) A-4; B-1; C-2; D-3 (2) A-3; B-2; C-4; D1
(3) A-4; B-3; C-2; D-1 (4) A-1; B-3;C-2; D-4
$08 JHo 0 Jowods seSerdeeSt adHbsol:
Sthen e S
A. 20ER BSHS 00D 165636 538
B. 30 fioreib S 2. harand, 63 6 85 ©of 3,
C. 20 B0 3.fies Oa7ery;
D. eReR sRPoRS 4. DA AR
$0% BEPERN0 A0HSB0S:
{1 A-4;8-1,C-2D-3 (2) A-3; B-2; C-4; D-1
@ﬁ‘“? 8-3,(-2D1 (4) A-1; B-3; C-2; D-4
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¢4 MWahatma Gandhi attended which of the following Round Table Conferences at London?

EE'F

(1) First and Second Round Table Conferences

{2) Only Second Round Table Conference

{3) Second and Third Round Table Conferences |

{dj Only Third Round Table Conference

5B &R0 ©0ERGE &3 08 & %08 Sends KPS FoeRRRLD? .
(1) 3L, Boess) TR0k elends Hanadsnen
@é&’JE}D Go&ss) G°08; land HamadEsin

(3) BotsH, srtsss F20E Bend HsrSdsnen

(4) 500 sH7RE Fook t3end HxRIdsm

Which of the following officers of the Indian National Army (INA) or Azad Hind Fauj were
subjected to trial by court martial by the British government in 1945-46 at the Red Fort,
Delhi? |

A. Shah Nawaz Hfhan

B. Subhas Chandra Bose
C. Gurdayal Singh Dhillon
D. Prem Sehgal

Select the correct answer:
() A, B&Conly (2) B,C &Donly
(3)A,C&Donly (4) A, B&Donly

1945-466)% &¢) &3 2YSe° Hiia H2HSO §85 irid ewe BOGAHA JANHS -:55& (INA)
St wepb Spobd Do & Bod 83 Sod {ﬂcizsaﬁame'iﬁ AN Derieatd thHiasmH?.

A. 2R SaeeS aRn

B, K0gRa 508 83%0)

C. thisafses doh HgR

D. 2 JFR!S

3B maRani D0sHERDA: -
A s caniingd
@&c&naﬁ;& (4) A, B & D SR

[PT.0 23
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65. Rabindranath Tagore renounced his “Knighthood” as a reaction to:
(1) Partition of Ben gal
{2) Jaliznwala Bagh Massacre

{3) Chauri-Chaura Violence

{4) Hanging of Bhagat Singh, Sukdev Thapar and Shivaram Rajguru

63 500 apEd° GRS A5 sHoreE eRMth & P Tk  Ee0meed?
(1) _ﬂDFFﬂF_'i- S)gfesns
@ﬁﬂﬂﬁ)-ﬂﬁm 250 SRSl

(3) &3°B-3Poe 30

(4) g5ti& R0h, B G 606, 2520 e HHthe SOSS

E}';/Whu among the following were associated with the founding of the Hindustan Socialist
Republican Association (HSRA)?

A. Bhagat Singh B. Khudiram Bose
C. Chandrashekhar Azad D. Subhas Chandra Bose

Select the correct answer:
() A, B&C only (2) B & D only (3) D only (4) A&C only

83 Sodaebes® aRoGRRD B0y 6HAEN &b, (HSRA) o) D020HODN aeih
aath?

A, 8ti& Rob B. 0B020 2550
C.Sot3b wenb D. A)g7eq 505 2555)
RGN BaRLNA Q0HSHDED:

(A B&C Sreefad _(2B&D drgad

(3) D SPSDH - @)a&cspgdH

B6B. What title was bestowed to Dupleix, the French Governor by Muzaffar Jung?

(1) Hasmat Jung : (2) Raisul Momin

(3) Nawaz Jung | : (4) Jaffar Jung

D00 560 ERDH Jnerdb 206 2y DHeH De?

(1 535 2o e 2) K0S AP
@)= o (4) 2250 2206
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go, The Samsthanamdar who played a crucial role in suppressing the 1857 Revolt in Hyderabac

State?
{1) Kollapur (2) Wanaparthy
(3) Amarchinta . (4) Gadwal
gpisveeRh Tez0P8 1857 SthiDeptni opISabEos? 0¥ g DO
RORAR S _
()5°gried (2) HR0
4[/3)@5’:35&0@3 (4) tiee@ .

70. The Comrades Association in Hyderabad was estabiished in the year:
(1)1934 (2) 1936 (3) 1939 (4)1942
grtioeenh@d saaht;, ©RBRADHN FhoSaEs HoBesvo:

(1) 1934 (2) 1926 @1939 (4) 1942

7.  Match the following books with their authors:

Book Author
A. Mughalal Kathalu 1. Suravaram Pratapa Reddy
B. Pasidi Bomma 2. Nandagiri Venkat Rao

C. Bombai Nanilu/kathalu 3. Amballa Janardhan

4. Nelluri Keshavaswamy

Choose the correct answer:
(1) A-4; B-1; C-3 (2) A-3; B-4; C-2 (3) A-1; B-4; C-3 (8) A-2; B-1: C-3
308 H¥see e SSanseS® H8De),06 |

Vs Heiowes

A. antienan S6en 1. 708580 HEed 86

B. 2R &P, 2. 50500 S05e) Tesdh

C. &52pepan Aeaen/SGen 3. @0 BARGN

4. 3270 S357RED
A% HAPGRH0 A0S0 |
{1 A-& B-1. C-3 (2) A-3; B-4; C-2 @7‘]{'&: c-3 (4) A-2; B-1; C-3

[PT.O 25
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72, Which of the following organised 'Go to the Village' campaign in Telangana in 19787
{1) Democratic Students Union (DSU)
{2)Progressive Democratic Students Union (PDSU)
{3) Redical Students Union (RSU)
(4) Viplava Rachayitala Szngem (VIRASAM)
800 e3¢ 1978€5 BoomRadt G tn 6 9FS/REreD SRl SRR ABEP0A0H
oJo)thy?
(1) Ge3EEiE Hriod, ahinahS (Dsy)
(205 CarEaE Srtod, ahrAabS (POSU)
(3) DaC.ED Hriiobh chrAohA (Rey)
(4) a)p)a) Gelonée Bogno (S)5:50)

%me the member of Anthea Pradesh Legisiative Assembly who resigned when Speaker
Yanamala Remakrishnucy oppoesed using of the word "Telangana' in the Assembly?
(1) T. Harish Rao (2] Poanam Prabhakar
(3) Pranay Bhaskar (%) Kasipeta Lingalah
@O BDH HNF JR* dvome Do &IPS Hew J6D HEE ohBHm
oahiucy vifodto go Sabm AN Soven ddr S5 @08 Do Aefe 8
OoeSRaaiNe (A B2 g ddds?
(1) 3. 5308 o) (2) &=85,0 g12R80
CEENES (%) 2256 doria,

E.//i‘dhir:h of the following Nizams prociaimed that “nothing will afford me greater pleasure
than to see the Hyderabad people living in peace and prasperity, engaged in development
of the sources of wealth, in the acquisition of knowledge, and in the cultivation of sciences”?
{1) Afzal-ud-Daula (2) Nasir-ud-Dauls

(3) Mahabub Ali Khan (4) Osman Ali Khan

& S00 08° & Az *Tegrend Hzen 2208, F200KS5 29050, H0HE, SSHe
BP3,05% gado HoDd05t0ss Z2) H0gpaRd), 202080085 K0d? A0
SRL0 S8 S R, 350650 95 2B~ ©2 H5B0e?

1 epd-ab-Pen 2) $556-65-Fer -

13) Spdeend 0 g8 (&) &5 0 a8
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76.

who among the following were the members of the Pranab Mukherji Committee?
(1) Shared Pawar & Gulam Nabhi Azad

(2) Shivraj Patil & S.M. Krishana

(3) Shibu Soren & Babulal Marandi

(4) Dayanidhi Maran & Raghuvamsh Prasad Singh

%3 806 57206° DY) Headh Sw b SeIS? Hahente SoGTH?

(1) #66 Ha708, ther0$2) v2rb

(2) 3550025 NBS, DR. V0. £

(3) B2 D50, ereneRd NT06
(@) 501G SP6N, G5inkos b doh

First anniversary of ‘Shoonya’ was held in India in 2022. In this context, read the following
statements:

A. Shoonya is a consumer awareness campaign to reduce water pollution.

B. 511ﬁu|1ya is @ consumer awareness campaign to reduce air pollution,

. The.campnign was held by the National Green Tnibunal (NGT).

D. It Is a campaign Lo promote use of Electric Vehicles (EVs).

E. It is Inclia's zero pollution e-mobility campaign,

Choose the correct answer: _

MABCD&E (2) A, C & E only (3) A, B &Donly (4) B, D & E only

GALIRS WAL\ RN eI (e Ko mgﬁﬁéﬁu 202265 gROSEF06° 20000, &3 Rog,ome & 308
TAORD SN0

AS endpd, SH0SmR8 JAARIROOD oSmdHS  Haedore 30y
@aaRHED0R. '

B.aRof seenald), SHoSmRAS AVARIRHVDH VSMHNS Haedorn  wei
aRELREDE0A.

C. 2p&ah o8¢ Sendd (NGT)SD & Do AGEPR0SG00.

D.aldo® §§ Toeaee (EVeD) DGR, D504 2.8 Haeio.

E aratiéaa'nu £65 (0) DeongS 2-30ddE HUom Ad GHARH HeHEH0.

R3S sarensd 20cHS80d:
MABCD&E (2) A, C&E d5egiab
BIA 85D apSd , @8, D& E Srgd
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78,

Smt. Droupadi Murmu is the 15th President of India. In this context arrange the following

former Presidents of India in the chronological order:

A. Dr. A.P.J, Abdul Kalam B. Sri_h’Z.H. Narayanan

C. Sri Pranab Mukherjee D. Smt. Pratibha Devisingh Patil
Choose the correct order:

(M B,ACD (2)B,A,D,C

(3)C,D,AB (4)D,A,B,C

BB FHO 50y, REEBE 155 0D, & Jocsore 8065 VBRGNS gRde &y
OREON SewEiriredon oo

wgﬁ 0).2).82. 9and Kero jlj 8.006. ApUe0DEsm

& __@, $eadd ;(maJQ 0. 350@ H&2m HAN0JY eI
8% Eairer), 00 Bahod:

(1B, A,C,D @), A, D,C

-(3)C,D,A, B (4)D,A, B, C

NITI Aayog's India Innovation Index-2021is based on seven pillars, Which of the %ﬂlluwing are |

NOT part of them?

(1) Business environment and Legal environment
(2) Human capital and Investment
(3) Knowledge output and Knowledge diffusion

(4) Special Economic Zones (SEZs) and Export Processing Zones (EPZs)

A8 adrh Olng, RoGofR addadhn 20E5-2021 D 0083 Eﬁ]ﬂﬁﬂ(ﬁﬂﬂl 208

D8 DD QOLHS? getfo saesy?

(1) 3aR0 aR @RISR0, LSHTHN aJeEesTER0
(2) SRR ameeio, RV

(1203, 2o amd
(@585 ek SD0GH), (SEZew), DiHEn® Feadoh £555en (EPzen)
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=5 whith one of the following is correct about the elimination of tuberculosis in India?

BO.

(1) The National Tuberculosis Elimination Programme (NTEP) was renamed as the Revised
National Tuberculosis Control Programme (RNTCP).

{2) Ni-kshay Poshan Yojana provides ¥1,000/- to those on TB treatment as nutritional
support.

(3) Pradhan Mantri TB Mukt Bharat Abhiyaan was launched in September 2022 by the
President of India.

(4) Pradhan Mantri TB Mukt Bharat Abhiyaan is meant for the elimination of TB in India by
2027.

g BF0d° SohHarnd AtreD Dkiahoes §od el AR HENE?

(1) 2 &0 ah AER,0S Set 0 (NTEP) HH 55002 erda Foh Aahogbes seEEd0
(RNTCP) 110 a37e2,(h.

@m-gcﬁa 05169 G3roessd TB D360 &), 37008 Doeiseivy sheiedrme X1,000/- ©OROR.
(3) 5701 5908 TB 5108 2aREE voRA A02b 2022650 gRPE TS Qai:in?:lumm.

(4) 2027 IS ERBSBF0G® Kabh a2 RS 5850 HEes Ho@ TB $n§ gRi®
@fofRR’ 6EB0SE0B.

What Is PM-SHRI (PM Schools for Rising India) Schools Yojana of the Government of India?
A. It Is a Centrally-sponsored yojana.

8. The yojana received approval from the Union Cabinet in September 2022

C. The scheme'’s total project cost would be about Y 36,000 crore.

D. The scheme will showcase all components of National Education Policy (NEP)-2020.
Choose the correct answer:

(WA B C&D (2) A, B & D only (3) B&D only (4) A & C only

QRO SEHSD & QS-S (PM G, 6 G0h @0G0M0) TR HEK0 @0t DT>
A. 20 8o spairesss Gireen. '

B. &3 Gleesid S085 08 06 dP0o2b 20228° BaARBODOE.

C. &3 SE5%0 Gwg, Ao FPET Jaho Rna3reth ¥ 36,000 534,

D.ep&0h Jwey DFeN0 (NEP) - 20206597 @), dgRmee) wihaone &3 D¢Eo esen
D0H2EHE0B.

3% BEeERRd, Q0 BOHOE:
MA,B,C&D @ B&D sREdH
(3) B & D SR o AsCERED
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B1.

82.

30

ed ‘in-principle’ approval U

: rant
Which of the following states are g August /september 20227

ntin
‘Promotion of Bulk Drug Parks' by the Central Governme

A. Andhra Pradesh  B. Chhattisgarh C. Gujarat

D. Himachal Pradesh E. Telangana

Choose the correct answer:

(1A, C&Donly (2) B & E only
(3)C,D&E only (4) A, B & C only
2022 GH5/302688 28, &h 6 HARAS HefE0 80t S0 $208,03 §00 TeeIH
&) Doghe) ‘KRdgedhom vrshéen &oaath S0oHR)E00?
A. GO B. $&RUG C. these®

D. odR® 66  E. @00

R HeRERTN), D00 dohod:
(@A, € & D S57gheh) (2) B& E S0

(3) C, D & E 3500¢fody (4) A, B & C $¢5)

With regard to the 36" National Games held in 2022, read the Following pairs:
A. Host of the 36" National Games: Gujarat

B. Host of the 35" edition of the national games: Karnataka

C. Year of the 35" edition of national games held: 2015

Choose the correct pair(s):
(1) A & B only

(3) A &C only

(2)B&Conly

(4) A only

2022658 2300 368 epdad Stew 020502 08 2o éﬁﬁ.ﬁn&.:
A. 368 eR@0D §Eow vddy, 0egi0: thesmed

B. e8ah §efe) 355 QBG5S 08¢y Togi0 : ¥getrs

C. 280h §e 355 DAHS 22085 HodHesgo: 2015

NBR 2&(©)MD 2098 Sahod:
(1) A &B SR (2) B & C &)
@A &C Aapda (4) A SRS

nder the scheme for

e
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84,

Mztch the following BIMSTEC Summits with the host countries:
Summit No. Host Country
A 2™ Summit 1. Sri Lanka
8. 3™ Summit 2. Nepal 3
C. 4% Summit 3. Myanmar
D. 5% Summit 4. India
Choose the correct pairs:
(1) A-4; B-3; C-1, D-2 (2) A-4; B-2; C-1; D-3
(3) A-2; B-4; C-3; D1 (4) A-4; B-3; C-2: D-1
$00) BIMSTEC 39)0eff Hdindmeeh oo 85, A5e0SE8 uEHTSoc:
Pl D Hoa; @25 B0
A. 28 B0 D0 1. 3008
B. 38) @Q0R{] M&RaE0 2. dnd
C. 4% B ool HaRaH0 3. Hahar,b
D. 56) Qoo Heeado 4.gRESEI0
N0 eeiw Doal Jahod:
(1) A-4; B-3; C-1; D-2 (2) A-4; B-2; C-1; D-3
(3) A-2; B-4; C-3; -1 (@)a-4;8-3;c-2; 01

Researchers published about Thiomargarita Magnifica in 2022. In this context, which one of
the following is correct?

(1) It is a bacterium.
(2) It is a larger coral.
(3) It is smaller than the previously largest known bacterium.

{4) It contains three times more genes than most seagrass.

Qainsingbim :;;aﬁﬁﬁ (D80 202265 HBF9¢5Hen ﬂ:ﬁ:ﬂnmﬁ: &8 Bow0Hod) fe]A)
RS0 DO HFHE? :

()28 2.5 epfooie

(2) 28 D Hifesw.
B) tiS0s58 BODH 0D epSdafe K08 2B ANG.-

- (8) 20 creR 25, HPER (HENGE) (1K) S0 5196 Gen D8, 20205 ¥98 &sotnod.

[P.T.O 31
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: '(KAZ22)?
' e Kakadu 2022"
g5 Which of the following statements are correct about Exercis
A. It is a biennial exercise. s
: i ienasnip.
B. The theme of the exercise is Partnership, Leadership & Frie
C. It is Australian Air Force’s joint international activity.

Choose the correct answer: -
(MA,B&C (2) A & B only

(3) B & C only (4) A & C only

%6 5e8t 2022' (KA22) tHB0S §06 FR@S® NTHE AD?

A. 20 B0 0% Ve

B, "ZRUARE0, TOHEE0 & 25 20650’ ©F D & & 2%,0 P ¥ 008,
C. 26 ©pdoha J:irAE o &yl codgraah sPYSeRO.

R0 257N 20HE BaHod:
(MAB&C (2) A & B &5eeSad
@E&t&ﬁn@&: (4) A & C SngSaD

86. Read the following statements about the United Nations High Commissioner for Human
Rights: |

A. He/she is appointed by the Secretary General of the United Nations.
B. She/he is appointed for a fixed term of 3 years.

C.Volker Turk of Austria is appointed as the High Commissioner for Human

_ Rights in
September 2022. 3

D. He took up his duties in October 2022.

Choose the correct statements:

() A,B,C&D (2) A&Bonly (3) A&C only (4) C&D only

DSOERODS SR e REDHSES H020808) S08 MO H$5508:

A DEDRBRENS REWB 2X555S 0sH/eD) AOH A0S0
B.3 J0s&000 AFE se0 5508 ©In/0ss RaDabosneH%

C. snofRs wody S B & =3
w . naJO2) e
AUHDHEATRLD, 0 80, Wgoab 202208 smisis PO ZREMGHEm

D. GO S entiBor s 202268 Semes,
RN SRBON 0D Sahod:
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g7 Read the following statements about the FIFA Under-17 Women's Football World Cup:

A. The world cup was held in October 2022.
B. The matches were played in Ahmedabad, Bhubaneshwar and Mumbai.
C. Teams from 16 countries participated in the world cup.
Choose the correct statements:
(1A, B&C (2) B&C only
(3) A&Conly . (4) A & B only
- 930 (FIFA) ©0EE-17 $2neo H)Sens 503 $9 10009 808 HR@E SES08:
A. ©592)D 2022 &° &3 0 o) AYERROBVWOA.
B. 05T, mx0eh), 21340, Suoginds & sSewmen ebmaw.
C. HD05 E&HEHE 16 Bao0E) B0HN 220 eFo0w.

H:]QF& méa:laml‘;ﬁl D02 woHoc:
(A B&C (2) B & C &7odiad
@ﬁ&ca’mﬁa’b (4) A & B &P¢5aD

88. Read the following statements about the ‘Flow Chemistry Technology' (FCT) Hub:

A. The Government of Telangana inaugurated the hub in December 2021.

B. The hub was set up at Dr. Reddy’s Institute of Life Sciences, Hyderabad,

C. The hub will be an enabler for the pharma industry in India.

D. The hub would function as a Centre of Excellence (CoE).

Choose the correct statements:

MA&Conly (2) B & D only

(3)ABC&D (4) B, C & D only

‘D5 SR BSLES (FCT) od5 9002 308 TRA®AD 35 00:

A. BR0TRE HEHHB0 &3 e E02b 2021655 ptiodooh.

B. GPUTREROSN oK BN alHengs ©f 55 pA,H & Hodd Doty Sahad0
C. gRUSRS0e58) E'.hclaa D0FDH &3 el 2,4 &gtise0m &0enod.
D. 83 &328) VOBD B %D, (Cok) o B DAN0H.

0N aR@eND JoDE dabhod:
nm&ca‘qagaﬁl (2) B & D 559¢85h
(3)A.B,C&D : (4) B, C & D &yeedad)

el

[P.T.O
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39, During the Telangana Government Delegation’s visit t0 the Davos 2022 }Narld Economic
Forum meeting, several investment opportunities were opened up. These include:

A. Hyundai group announced to partner in Mobility Valley.

B. Stadler Rail has come forward to establish the rail-coach factory.

C. Japanese Tuttsan Pharma to invest in the Pharma City.

D. e-Commerce company Meesho to start its business in Hyderabad.

€. Spanish multinational company Chemo Pharma to expand its business in Hyderabad.

Select the correct answer:
(1) A, B,C&D only (2) A, B, D &E only
(3) B,C,D &E only (4) A, C & E only

RGO 2022 U8 QEFeaLE Pitio JiiraeAS Seomes YEHE B a]?}m:én S[eNALY
H0c5t0m 08 Benac oSS SdSageaw. Jeejed 8§97 -

A. 50,05 iP5, andOE) o088 ertipim Soterdd HEodoa.

B. 35-5%%) §»,50R D05t e¢b 56 swoth® SoB.

C. 02, LEIFE epeacien 1NN, 2:HAN L1eERN 08, .

D. 83-52500; K0 W' FRUiTReRME? $8 mERRR), Ftiodosiod.

E. 2,00 e epd@ K07 '3dR §r0e; sReiteanthes ¢ argeued), K80:5:5000.
R0 esaTeenR) QochHEHw:

(1) A, B, C & D simefad (2) A, B, D & E deefal

(3) B, C, D & E aleedad) (4) A, C & E &50¢85D)

30. With regard to Pochampally village on the outskirts of Hyderabad, which of the fFollowing

statements isfare correct?

A. The UN World Tourism Organisation (UNWTO) awarded the ‘Best Tourism Village' title to
Pochampally village.

B. The award was announced in April 2022.

C. Pochampally ‘ikat’ designs already hold the Geographical Indications (GI) tag.
Choose the correct answer:

(MAB&C
(3) Conly

(2) A&B only
(8) A&Conly



a1,

grisorerh BGHN 55050 MRS Honodod Sob alsd KEH Svm(L) A6/
AT |

A. 0500 E HH0 tedeyo N0y (UNWTO) D5e500E) M08 'wifa HoRE NPslo'
AHOMN HEBoDos. :

B. 83 OTRWAD Dt 202265 HEBometh.

C. 550D ‘G’ G@Sen 25,08 PEYE KK (GI) i ¥HA eav 0w,
NN NRGERAR), 0D SoHod:

A, BaC (2) A & B &¢8ah
- (3) C Hroghad ([@)A & CERgD
As per the SIPRI sources, the total global military expenditure increased in real terms in
2021, to reach $2113 billion. Arrange the following first four countries in descending order
based on their military budgets in the year 2021;
A, India B. China
C. The USA D. The UK
Choose the correct descending order:
(B, CAD (2)C,B,A,D (3)C,B,D,A (4)D,C, B, A
SIPRI Swperee) H50850, Ao HH0 VRS B,0H0 2021650 TP Home $2113 HAAH D
SHY0A. 2021 Hos TSR a8 PRE VEHL Wrdore §od Antstd menth Gwei
©350%5Res §shod® wshdod:
A. gRESRB0 B. JAe
C. USA D. UK
NG ©a309550e3 Sairen), DOHF0G:
(1B,C,A,D - d)c.BAD
_3)¢,B,D,A (4)0,CBA

92. India established full diplomatic relations with Israel in the year:

(1) 1956 (2) 1988
(3) 1992 (4) 1998
2ERADSSS gRBSBF0 37°0 T N00ERON & N0HEE0e08 AYBHH0b:
{11956 (2) 1989
@1992  {4)1998

IP.T.0 Is
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i3.

94,

95.

A wave of pro-democracy protests and uprisings known as ‘Arab Spring.', took Flace if‘ the
Weast Asia and North Africa during 2010 and 2011. Consider the following in relation to it:
A The first demonstration known as Jasmine Revolution’ took place in Tunisia in December
2010.
B. The second is the Syria’s January 25 Revolution of 2011
Choose the correct answer:
(1) A only (2) B only
(3) Both A &B (4) Neither A nor B
2010, 2011 Se@0E? HRHPAOR, S8 BPSS? 'O YOH' O dendat e
OERL DTHSM, BthiDerey esdmow. HAF HowoHod & §od e 2)Bifedotsocs:
A. 22,0 BHRAS' 0 Hendad S Het GR02b 2010650 s0,00ee° 230008,
B. B0¢5556) 2011 2289550 25 matd) 2:60: AB0TR JHAO.
A0 2557208 Q0eH520C:
(O)A sngah (2) B Srpgiad
(3) A & B Botsre (4) A & B G0SIe 538D
What Is the name of the train that runs between Kolkata in India and Khulna in Bangladesh?
(1) Banga Milan Express
(2) Rabindranath Tagore Mail
(3) Bangla Express
(4) Bandhan Express
BRRUBEHOSIR SSKee, 20RBBHR aner, ek HEW Jen D D
(1) 20 DOS 5N
(2) Bdogmed wetind doned
(3) 0[P A5
(@206 252R

Where did the 17th Edition of Indo-US joint training exercise 'EX YUDH ABHYAS 27 take place
in October 20277

(1) Alaska (2) Rajasthan (3) Texas
©Sb 20215 175 AGHS 2OGR-aAR a0
VR 21 D5 0AoH?

(oo, (2) TREs R (3) s
acarl iy

(4) Odisha
520 QYRS & K, ab

(4) 265
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6. Wmcninternatonal tribunal has the right to prosecute individuals ,:harged with the gravest

78

crimes like war and crimes against humanity?
{1) United Nations Investigation Agency

(2) United Nations Prosecution Council

(3) International Criminal Court

(4) International Court of Justice

ofng Soee, SRSSERds SEBEKm 528 &Y JvwH POES HHOKH JPO0H

5508, ) ©OELR&ON Fe,oNH RS 0>

(1) o FEE BN, aBRAAS D),

(2) OEORe0 @ pRsREAm 52,6

(B)oosgedan 8ansd 846

(4) @0 RAAH A0HRRH0

A fuse wire must have these properties:

(1) low melting ﬁnint and low specific resistance metal and low ohmic loss
(2) low melting point and high specific resistance metal and low ohmic loss
(3) high melting point and low specific resistance metal and high ohmic loss

(4) high melting point and high specific resistance metal and high ohmic loss

DUDE S BRO 58 OGS TR
5 (50e55% 50 00 S DB A6 S0 5001 e .S B0

(@59, 5he5s g0 $000 A5 D3 A0S 0 900 e85 £ o

() 26,5 5 2050 B S5 BZ A Hii0 SO I &6 S50

D35S 599555 0 S0 25 DB G S0 HBaM DS L.NE S50
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29,

100.

Consider the following pairs:

Scientist’s Name Discovery

A. Aristotle: Geocentric theory

B. Copernicus : Heliocentric theory

C. Galileo : Law of universal gravitation

D. Newton: Principles of calculus and optics

Choose the correct pairs: .
(1) A &C only (2) B &D only @AC&Donly . (AABCED
800 aciesd Hotiedoso

mﬁ&ie‘j Al G el

A. mﬂr&aeﬁtﬁ _7 :2fR80{H Ageodo

B EOKD it Sotss RR00

c. 30O . .+ D thhH@REea

D. Rirgar : B0ed, ¢yd; @y dgoen

BB 2R oD Brusiod:

MA&CSrgad. @B & Hngad

(3) A, € & D &50fad (4)A,B,C&D

Crude oil remains the primary source of many petrochemical products. What is the name of

the process used to separate the various products like petrol, kerosene, paraffin wax from
crude oil? |

(1) Osmosis (2) Distillation (3) Sublimation (-ﬂi Diffusion

508 S0t ©FS DEBWES GEHHOD PV HPO0. K08 S50t 08 S,

8850, TR ) Hoth DV SO I JoHAE &HARAS Hiah HP
QA ES?

E. ' wt '
(1) BRRRR @&@aﬂﬁ (3) HE)abHR (4) af@éﬂ 5
What are the primary consumers in a grassland ecosystem?
(1) Photosynthetic plants (2) Herbivores

(3) Carnivores (4) Decomposers

QS DERN0 DTREIGE ENSE Doti ¥ HACIRHTRHED D:5tH/H?
() 8t5eoesidy Sodiets Sab 0h awgey () mandEthen

(3) SroPTeHen (4) 0D sethen/G80a52:5,
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101

Consider the following in relation to the Hyderabad Civil SEWICE (HCS):
A. The HCS was inaugurated in the year 1884.

B. The introduction of HCS was constructive engagement of Mir Osman Ali Khan.
C. The selected Candidates were trained at Nizam Enllege

D. To inculcate adrmmstratme practices the HCS trainees were sent to British India to work
mth officers.

Select the correct answer:.

(1) A, B &C only (2) A, B &D only

(3) A,C&D only (4) B, C &D only

greiTRerh A KB (HCS) H K020009 82 $00 570639 Harotha:

A 2PSD.AD.5 1884650 B0 0.
B.3R0.R.0R). & Had 28 26560 B 72, ©F) g8 AoePSE AF0H0.
C. D0DZH O HOH Az0 Semee0 3¥s Rmeth.

D. HBP®D mcﬁéﬁmrﬁa 208R0H0D 5858 &3 2H.D.AR. 33239_15&3 a:m‘:.ié 2ed
0O5HOE? HIFODHEAS Hoaeth.

A0 B3a3980RN )0DEBRE:
(1 A,B&C HgGD (2) A, B & D &50¢8aD
(3) A, C & D syegadd (4) B, C & D £50¢85h)

102,

Match the following industries- with the places where they were established during the

period of last Nizam:

Name of the Ind ustry - : Place
A. Azam Jahi Textile Mills L Bodhan
B, Alcohol Factory ' 2. Yadgir
C. Hyderabad Chemicals & Fertilizers 3. Warangal
D. Oil Pressing Factory T 4. Hyderabad
5. Bellampally -
Select the correct answer: '
(1) A-4; B-5; C-3; D-2 ' ~ (DA-2B-5C-3;D-5
B A3B2C4DS ¥ . (8A3B1C5D-2

[PT.O 39



gseHTehal:
52 306 950 Qa0 S00° JVFPGV $0&50R 083 Zo0ERR S ¢

5885 2t D050

2. @220 Bysre €35, 638 Sen 1. 85950

B. oS Fs0 2. QB

C. eeseenb 35086, 0ok 0T8Oy 3. oS

D. @onS 2Ry RED R Tnlegiacts

5. 30D

951 247920 OLHERRDS:

(1) A-4; B-5; C-3; D-2 ' (2) A-2; B-1;C-3; D-5
@Hi B-2;,C-4;D-5 (4) A-3; B-1; C-5; D-2

103. Who wrote the poetic verses, "Puttuka Needi-Chaavu Needi: Bratukanta Deshaanidi"?

(1) Dashradhi Krishnamacharya (2) Kaloji Narayana Rao

(3) C. Narayana Reddy (4) Suddala Hanumanthu

“SE0E AB - @5y AG: peh¥oes GZAN" 0 DR HoH AH0?

(1) U KRsnmed, (2) 529928 ApTROhEd TREY)
(3) A.ARDRADES O (4) LR sTRRNN0E)

104. With regard to the GRID policy of the Government of Telangana, which of the following

statements are correct?
A. As per the Telangana government, it is ‘Growth in dispersion (GRID)' policy.
B. The government provides special incentives to the companies that set up their units

beyond Hyderabad.

C. Special incentives will be provided if they set up their units beyond the western part of
Hyderabad. |

D.IT parks in Pocharam and Kompally are under development.
Select the correct answer: |
(MA,B,C&D
{(3) C & D only

(2) A & B only
(4) A, C & D only
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105,

- POUTHE HUHE, BE (6RID) Sppaeds H020802 §00 VSRS b
A BO0TD SO0 Ssetio, 26 B3 a5 &5,8S (GRIDY D0,

B PORLZR0sIE Jaide chrdn Smin 3003 0280 D080 B8

"'&m 3,539 BOER0B.

CEPLitRant 535 5202208 Seuse ohrdM J00 FHH0S HEE Feosees
£8),0c5 extiemon.

b. 8800, 8205867 ot (M 62 0D50 H35° sman,
PN ReReRmA, H0thEed:

(MABCHD (2) A & B 3R

(3) £ & D sh3wehan (4) A, € & D Sg¥abd

With regard to the Rythu Bima scheme of Tolangana govern n1e-nt; read the following
statements;

A, The government proviges & maximum of 10 lakh financial assistance under the scheme.
B, TEE claims under the scheme ane settied within 10 days.

C. Under the scheme, 30% of the insurance premium is paid by the government,

Choose the correct statement(sk

{1) A&Conly (2) A & B only

(3) B only (4) A, B&C

Soomee 5@@@ 5eb e H5528 Ho20502) & 806 aa;a:,;ma‘h SE5S50a:

A & Hi5%0 S0t HDHOTR 10 ©FL SOE J50RAY, H2H&0 V0BFI0E.
g a.;_g 5650 $06 Y00 10 Boareei® H0A DoSacieron. |
B T & S350 8odd £hm ﬁﬂjﬁ’uﬁﬁa 90% 94He&0 dP0a.
55 BB ga‘mi{gﬁj 2005206 s
S - - RA&B&SRSD
_mucasagaa - =
S m ﬁ m | _ {4 AB&C



i06.

-

107.

108.

108.

Find the next term in the following series:

800 330 Sthareds 5533, H0ay DO ?
H.% L]

3.15:‘2 60,120,210, ;

@336 (2) 326 (3)340 . (4) 338

A Woman points to a Man in a group and said "He is the Husband of only Granddaughter of

Grandfather of my brother”. How that man is related to the woman?
2.8 H555080 &Xp.8 HHne eare o ieY & Ao Da)0R. “ OBRY,
A6 T, @050 I 2.8e.8 5508 GIng, 235" © HBXED, 83 Q8 ADH @t

(@Husband (256) (2) Grandfather (@08 (RE))
(3) Grandson (50:563¢0) ' (4) Father- in-law (7253 1o D)
If yesterday was Thursday, what will be the day after 163 days from today?

2 58% Q%) HHTB0 ©and, & By oG 163 Dese Shaes $3, Ber & o
@E0H? ~®

(1) Friday (Ear00) @'Sunn:i.?n,»r (@Bardo)

(3) Tuesday (s otigapto) (4) Monday (R3c0a7eti0)

Population of six cities A, B, C, D, E and F from 2010 to 2015 is given in the following Table.

What is the ratio between the population of the city Cin 2012 and the total population of all
the cities together in the year 2012?

ol LSS 2010 $00E 2015 SHH A, B, C, D, E, 5800 F 03 6 Rifoee 22xpg5 as@&00.
2012 8 R035&50698 C NiftS esvegyed, 2012 &9 @], Stfoee) 300 2:rgRs ) B D0es?

Year/ " City (Population in lakhs)/
N0 ' NGO (2379370 @563
A 2] C D E =
2010 125 | 210 85 150 98 138
201 135 | 225 89 170 110 152
2012 142 | 240 S1- | 180 | 130 | 160
2013 148 | 250 | 99 215 | 140 | 175
2014 155 | 270 | 105 | 230 | 145 | 190
2015 160 | 290 | 110 | 240 | 160 | 198
(1)191:2000 (2) 197:2000 (3) 193:1&0{1

(4) 199:2000
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o, W e swus leliguage, if THINNING is written as VKNUYVEZ, then how PERCENTAGE is written

i the same langua E;_ﬂ

2.8 8%% gpuse Thmmwﬁ A VKNUYVEZ TR TR, ©F gRa1e0 PERCENTAGE d Q) Ao
Tonpln?

(1) RHWINYGRZZ (2) RHWIAPKTDH

-gt-,‘f-
(BRHWIPAKTDH (4) RHWINYGPXX LS

M. What is the value of the following if, + s changed to x, - is changed to *, x is changed to -
and # is changed to + ?

&éﬁ@’i—ﬁxm ~ na xR -1, = D + R $ROR, én&amma’]ma‘iamﬁ?
3050’ 2560 - 367 rz?ﬁzag

(1) 5581 (12)71582

(3) 7825800 (4) 78258

2. The sum of current ages of A and B is 42 years and after 9 years the ratio between their
ages will be 2:3, What is the difference between their current ages? (in vears)

A, B 2 20D Sneo 42 H0:E 0200, 9 505,000 Bthand a0 S0HKYR A,B
23 ©ond, a0 HRue HaHe B, Soe D0S? (50,08

(16 (2) 8 i
(3)9 2 ?"'.?;-r-::;""
N3, What will be the next term in the following series?
308 Fe365° Sthawes a3, 08y A8 ? ’
11000, 0.3333, 02000, 01428, 01111, 2 |
~ fjoogos @oos e
{3) D.0667 (4) 0.0588

14, ' Ina certain code MODEL is written as “1532#', DEAR is written as ‘8#3%', MONEY is written -

J as 7852+ and MADE is written as "5#3%! How is ROAM written in the same code?
' 2.5 63 ared® MODEL R ‘1532# T, DEAR R ‘843%' 175, MONEY 8 ‘7#52*' 112, MADE 2) ‘5432
02, ©F gRRad® ROAM A QTR TeFRi? - ~ 25T A~
Mawsg & (2)2%85

(3) 5%23 | R i
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115,

116.

nJ.

44

Income and Expenditure details of Five companies A,B,C,D and E are given in the following
a . L b |
Bar chart. What is the average profit for all the five companies together (in Rs. Crores):

805 )% 26 @] % AB,CDE ©F 0 0BV @m0, 0§70 TN BRI,
065 o 1. ds, Hifew enzfo H0S? (B SIS

Income and Expenditure (in Rupees Crores) /ool
Sciren (Bo drdrag)

[ income /GTRa00 WM Expenditure / 500

Lo 3T
30 [ | 22¢

300 758 4t
250 215 s
]
159
100

i ]
e = |
1 ] L

L
I f
[

(1) 70.20 27120
(3) 70.40 (@)72.20

R
Lol 118

T

In a certain code ‘support the other group'is written as ‘Jape la no' 'the mission gain suppni't'
Is written as 'ke ja zi a’, gain other than money’ is written as ‘fu no ho zi' and ‘more support
and money' is written as ‘re qi fu ja: What is the code for ‘mission’?

- &8 0% SO gRi@® ‘support the other group' A ‘ja pe (g m, missinn gain

Upport’ O '@@zinﬂ. 'gain other than money' A *fu@ ho zi' T8, ‘more support and
money' Q) 're qi fu ja' M T2W), ‘mission’ G, 588 HAeEI? P

() la | (2) zi

@ke (4) ja

A s the brother of B. B is the sister of T. T is the mother of P, C is the brother of T and D is

the husband of B. Q is the only son of R and R is the grandfather of P, how would ‘T’ be
related to 'R"? :

A, B QIng, DBCSDED. B, T G0, A5IB. T, P Gk, &8). ¢, T O, ABESHES. D, B AN, 256
Q. R G, 2,82, D, B, P AInE, &6 meth wond, T R & QaDNE0E? | i
(1) Sister-in-law/ sbditien &ime 56 ' -

(2) Granddaughter/ sbrisdTeen

(3) Sister/ 3¢50

Da ughter-in-law/ §3¢e
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. 5 uest: - '

118 intheg on below are given two statements followed by two conclusions number | and
il. You have to assume everything in the statements to be true even if they seem to be at
variance from commonly known facts and then decide which of the given conclusions

Iogically Tollows from the statements disregarding commonly known facts and select the
appropriate answer,

Statements:

All mirrors are phones

Some phones are gadgets
Conclusions:

l. Some gadgets are phones

Il. Some gadgets are mirrors g

A1 Only | follows

(2) Only Il follows ‘

(3} Both | and I follow

(4) Neither I nor Il follow

8065 Both HEwSen, meIA O[OS, 1500 I Fafeen BeEean. BE HEIS
A0 59:555,838 a3 Aesomr Hbtiedosod. v, Agofee :‘5:56:15’:: SRS, Degedfcaone .
BONS Yo 009, DD, 2N TELSO S, 2.8 KH nJ%S@E?& Sl
AP0, KT ess0e0i J0DE JOHOG.
50e: V), tezeen D

§3Q, o RGN (H0ETRe)

'{'gﬁiﬁm | : | L IS
1. 593, TRGED 85D | &

Il. §8%), MR e &55,Een
@ﬁ"mﬁna’:g | SRS ©RHB0B

(2) Aoy 1l sregiad @ADNOWOE

(3) dwhoyen L1 Gotsre R0

(4) Snfoen 1, Il e BoLR ®RVND0Y)
‘[PT.O a5
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120.

121,

122,

Point B is 3 meters North of point A. Point C is 3 meters West of point B. Point D is 6 meters
South of point C. Point E is 11 meters East of point D. How far and in which of the direction
is point E, with reference to point B?

aR0N0E) B, aponot) A § &eued 3 Aty SRdoe® &0B. Feawod§ ¢, Seonod) B &
D%)53005) 3 AT KRG0S &00. FPoNOLS D, ﬁ‘anm}eﬁ C 8 ¢38£907 6 Y 580659 608,
RO E, a?mm;-ne'i' D & ¢ith™ 11 el tRB0S® &08. ool E, a:nnnueﬁ' B 8§ Qods
GRE0H° @ BF5° &od?

(1) 10 m, East/ 10 &béath, et

()10 m, South-East/ 10 &eath), aif,aHio

(3) 8 m, North-East/ 8 shéath, &3m0 .
(4) 8 m, South/8 shéxth, &3&es0

There is some relationship between the two terms on the left side of the sign ::. The same
relationship e:-:ist_s between the two terms on the right side of the sign :. Find the right
answer from the following four alternatives. ;

1 thihs atieh HER &8, Goth Hmpe e, & Ho0Eio &od. OB, :: tHHE HE
DEN &), doth Hoee S, Erme 0ol Jowogo soitnm Sod [N Teenth
d@EiR,ofRe Mok NGN Hxirgraed), Sfsiod.

ACFJ: ZXUQ :: EGJN: ?

(1) uTaL (2) UTMQ (3) VTOL @vram

All the faces of a cube are painted with blue colour and then it is cut into 125 small equal

cubes. How many small cubes will be formed having only one face coloured ?

&8 arA8 e Jder Ao Both SRS Sthaed, ) 125 HPHHS I, § qnmaenrm
E@B0eth. apile) A, DN, HaRwDH 2.8 2.8 S0a0d Boih Sohard &otnod?

@Ea (2) 80 (3)16 (4) 27

Identify the term which does not fit in the series.

800 368698 Qs Hwe), SHsioa?
GA4T, J10R, M20P, P43N, SO0L

(1) GaT (2) JIOR (G)m20p (4) S90L
What is the missing term in the following series?

S00 336 &2,/ Hed), SdS0E.

J2Z, Kax, 17V, ? , HI6R, M22P

s (2) 2T (3) MT @
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X S Boys, Suman,
3. b M, Suresh, Saketh, Sravan, Sumanth and Sandesh are sitting around a circular

t2bie &nd all of them are fating towards the centre of the circle. Sumanth is not sitting
between Suresh and Sravan bur someone else from the group. Suman sits to the left ol
Sandesh. Saketh is fourth to the right of Suman. Who is sitting exactly opposite to Sandesh:
St Zrexth MM, S, 2ES, £56, oS, 5085 e $,Ee5et08® Eniiyd
o O, Soto ) Armam. WS, 555 © M WH0S OB 8, &
VR0 0L ML) Ertymth. DS, 5085 & AED HEH LoD, NS,
e & 0 HED PP 2506 smeh H055 § PSR AHHM AW
50,052 i '

() saketh/ "3E& (2) Sraven/ 3¢5
(3) Suresh/ @i {4) Sumanth/ oS

125, At what time between 5.30 and 6 will the hands of a clock be at right angles?
2.8 tC.0M 0@ 5.20, 6 floweh A, Sorh Ang Sk ©oa§0 3%))tH GooH?

] )
(1) 43 5_1 min,past 5/5 ﬁu-'...mvi.?-:; i T
@ -13%111111.;1:151 578 tlo -53;1_ SR
(3) dﬁﬁnﬂu.;m:ﬂ 5/ 8 fhotos 43 — S

(4) -‘Hﬁmiu. past 578 thov 4‘3:—": PGty T

126. Which of the following are flowering plants?

A. Bryophytes B. Pteridophytes
C. Gymnosperms D. Angiosperms
Choose the correct answer:
(WA, BE&Conly (2) B&Conly
{AC&Donly (4) B & D only
Son sSed H,08 e 22
A pARDE, B. 80559
€ 258 Dared | D. 65 dezee
RN mapend D050k A
MABRCARSD ' QB&CERSDH
o @repandd (8) B &D EREH

[PT.0 a7
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127. Temporary hardness in water js mainly due to the presence of:
(1) Sulphates of magnesium and calcium
(2) Nitrates of calcium and magnesium
(3) Bicarbonates of calcium and magnesium
(4) Chiorides of magnesium and calcium
QA0 @oe,dy 58:5,0 Hppiom B &S sedraom SHOG:
(1) bf,20h0o SHBafy sedooe Kt
(2) s2gJafho sHootn fihchoe Feien

(B)se@os0 S0 HAQaho 2500936
(4) Sthono 51005 sedaoe 55

128. Only transgenic Bt crop that has approval for commercial cultivation in India is;
(1) Cotton (2) Brinjal (3) Chilli (4) Sesame

y5e (2) S0se0%
(3) B0 (4) o0

129. Why is mercury used as thermometric substance in thermometers?
A. It is a good thermal conductor.
B. Its thermal expansion is uniform.
C. Itis opaque and shining.
D. It easily sticks to the walls of the glass tube,
Select the correct answer:

(1) A &B only (2) C&D only [B}A,E&Ennl'-,r (@A, B, C&D
aREBRRRY, 3160025060 GNIRHE &mgﬂm ) 0LHE &Aoo
A, 06 2.5 &85 &3 o, :

B &51a7085:5550 Q86&me sHotnod.
C. 08 OMBLBYE Hrmiian DO OB,
Lo meer iPgin ftsed degfore o&®,0tnos

BaHN eaveen Q0DHE0G:
: @Eamg&. (2) € &D g5,
(3) A, B &C adwedad - (4 A B CsD

48
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-

131,

132,

e L I . .
50, ftis 3 generalpractice in some western countries to use electrolytes to ease the melting of

ice from sidewalks, Streets, highways Etc Which of the following electrolyte is most efficient
in melting ice faster?

(1) NaCl (2) Cacl,

(4) C_H.,,0

w2 nm

59), e 32,85, B 50058 Sedeatyen, ahen, 2e&ah Gemethen dntserth 59 DHHDDE0NH

(3) HCI

&00eh HEOM EB8N0HRS? aesideih a3 §00 DB ol VN

dmﬁsﬁneﬁaﬁiﬁsﬁ
(1) NaCl ' @cam
(3) HCI (4) C_H..0

2

What is the normal range of body mass index (BMI) for adults?

(1)15.5 - 19.9 (2) 185 - 24.9
(3) 185 - 29.9 (4) 2255 - 26.4
DSV ewd SRR BOEE, (BMN) CINE, Rgedts HOG HE?
(1) 15,5 - 19.9 (@)85-249
(3)18.5 - 29.9 (4) 225 - 26.4

Which of the following are emerging infectious diseases?

A.SARS | B. Japanese encephalitis

C. Kala-azar D. Nipah virus disease

Select the correct answer:

(N A&Conly (2) A, B &D only
(3)B,C & Donly (4) C & D only

208 TSP H OHRHEIEN, ©OLD arRGHeV?

A. 720,/SARS , : B. 233AR 2R)3ede3R
C. seep-m2b : D. A JBR mﬁ
0% ey H0HSP0G:

(1) A & C 58D . : @&B&naﬁﬁgﬁj
(M7 & D Sgid (@) C&D SpgS)

[PT.0 a9
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133.

134.

135.

The process of using -micro-organisms to degrade substances ‘that contribute tq
environmental pollution (for eg. oil spills) is called:

(1) Bioremediation : - {2) Eiupr;:sper:ting
(3) Gene therapy - (4) Proteome technigue

00RIEs SeenalR8 BETEHE n:rmame}r‘&) Se8odeahmes nmg efshed enairiod
DEAHRD (GT3. Sa0th DoseIo) &3 :'{lt,ﬁuna QDR

()25 D3¢, /0GRBDEDHAS (2) 255 HEaH/2RER 0N

) i D8e8,/33 35 (4) D3 38§

Optical fibre is at the heart of the modern optical fibre communications system. Which of
the following laws play an important role in the propagation of light through the optical
fibre? ; |

(1) The principle of least action - {é} Snell's Law

(3) Raman effect (4) Law of reflection

SES P, BEHVE ©HES b KiarERS RPN tHoE seah 0636, c&mﬁe‘f 220
@o0? SR08R) 57o3) Sasoss S08 238 & Keo SAGHH et DoAV0H?

(1) 8RR 256, Ki5ee80/ The principle of least action
VS K10 / Snell's Law

(3) Do Qaﬁﬁﬁﬁf Raman effect

E’Jmaﬁgﬁ‘i RIRg40/ La-w of reflection

Which of the following are the Ecn:_r_—Sensiﬁ'-.re Zones of Telangana?
A. Pakhal Wildlife Sanctuary

B. Nagarjuna Sagar-Srisailam Wildlifé Sanctuary
C. Manjeera Wildlife Sanctuary

D. Kinnerasanj witdliFe Sanctuary

E. Pocharam Wildlife Sanctuary

Select the correct answer-

(1) A, B &Conly Ko SR {z}n,c,u&Enni'f

(3)B,C,D&Eonly . e (4) A, B, D & E only
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&3 Sob 528)6° SBo0omadty) D8-S 8en HA?
A. 350 DRTEDL WEfafed0

8. 7R ~RHiD-3F00 Sr@ere vafafRtao

C. 60230 SR@REND @O0

D. 8&,87A) S @erare weiaeEeso

E. 9700 83, Fee)e) 0zfaREe0

RI0R 25a7020R) )0LHEADS:
(1) A, B &C &g @A €, D &ESRgED
(3) B, C, D & E &7 ¢8ad " [4)A,B,D&E s5gian

136. Which one of the following organisations launched global initiative to conserve one trillior
trees around the world?

(1) United Nations Environment Programme
(2) World Economic Forum
(3) World Bank

(4) World Health Organisation

&2 00 et O Hop HHoSodt 2.8 GoDS Sseex Rodgodioth® HHods Jeon
DG SHGHE?

()00 DN Hoaites Dertio
(@ E50:s @B P30

(3) 0% 20§

(4) 95025 @G R0

137 Match the following tiger reserves with their state of lncatrnn

' Tiger Reserve State of Location
A. Kamlang 1. Eﬁhat\:isgarh
B. Udanti-Sitanadi 2. Madhya Pradesh
C. Dandeli-Anshi 3. Arunachal Pradesh
D. Satpura 4. West Bengal

5. Kamataka

Select the correct answer: .
(1) A-5; B-1, C-4; D-3 (2) A-3; B-5; C-4; D1
(3) A-4;B-3; C-1,D-2 (4) A-3; B-1; C-5; D-2
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&: 08 Hene vfoiRYtRN O &) m@am@’é 2385 P eHA:

Qeve vgfolRdo o250

A. Ses00h 1. 5800

B. 6TR0&-AZN0 2, 565 DAB

C. 85089-6R | 3. 0tHegedd DB
D. A8 4. 5355 BomRS

h 5. 0005

20/ 22572208 0TI

(1) A-5; B-1,C-4; D-3 | , (2) A-3; B-5; C-4; D-1
(3) A-4; B-3; C-1;D-2 . (@)A-3; B-1,C-5; -2

138. Glaciers c_:f the fclluw'ing state are losing mass faster when compared to other states:
(1) Himachal Pradesh (2) Meghalaya
(3) Sikkim (4) Mizoram
B8 TogpoE? D58)BKth 8 06 MFHOD® ARRASTR Btfore S G TR
596596 aR,00:
(1) Srsirecse) @3S 2) dheeoh
@Eﬁ&n ' | (4) Shesedo

139. Consider the following in relation to India’s first electric vehicle charging station powered
by food waste:

A. The station, a first-of-its-kind, will generate 220 units of electricity from food waste.

B. The inauguration of the station was done by the Minister for Environment, Forests and
Climate Change.

C. The Brihanmumbai Municipal Corporation (BMC) is planning to set up similar stétinns in
its 24 administrative areas.

D. The project is a joint venture betweén the BMC and Aero Care Clean Energy,.

E. Along with powering street lights, this energy plant will now charge electric vehicles too.
Select the correct answer: '

(1) A,B&Conly - (2) A, B & E only
(3)A,C,D &Eonly (4) B, C,D &E only
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140.

©a1°0 PO DG eREBEFEE) Anencses .ﬂmgﬁ 3878065 cB0b P K Ho20H05)
43 06 a0e3R H2rocHSw:

&3 RS AQANESE 858 ZoB0B, 1 WS g0 {100 220 0NHRAY NN
ﬁeﬁﬁ SR00A. .
B. 83 HANR, Hoogsties, 068, eErstn 108 eB0goaTeds.

C. 555 5002 EnARHS 26454 (BMC) mensod g5 69 24 $58m0E o0
D:.'!UE'JEJJ Eﬁﬁ“.ﬁﬁ.‘lﬂﬂl

D. 83 ZPEF .00.0, Do §5 d9fe e2an06l F0:56.

E. A6 BaPooH Aehehik aaﬁ_._,csmﬁﬁa:am: & D50 o0k aa’nﬁ} DB asipmoON) KRtR
@300 BK00B.

000 23570208 )0HE0E:
(1) A, B & C diregéa

(2) A, B & E 5370¢55D)

(3) A, C, D & E &7¢5ah

(4) B, C, D & E &m¢85hH

Arrange the following health related schemes of the Government of India in chronological
order:

A. Janani Suraksha Yojana (JSY)

B. PM Matru Vandana Yojana (PMMVY).

C. PM Surakshit Matritva Abhiyan (PMSMA)

D. Surakshit Matritva Aashwasan (SUMAN)

Choose the correct order:

MACBD °  (@CBAD . (3)ABDC (4)B,C,D, A
808 aniies HaHEH) GO 5206 SEiserR POEHRHRE0m ©HE0S:

A 23R KEE alreasrd (JSY)

B. 9525 $008 $rees) S0L5S. alreesd (PMMVY)
C. S50 5508 KuUES Sk @§afen (PMSMA)
D. XU8S aireeh,ef; ©@RFEIM (SUMAN)

R0 K579, Q0DE BOHOG: _ <
(MA,CB,D .o (2)C,B,A,D

{3] AJ E’J DJ E : . . [-4] E" ':i' D— A

[PT.O 53



- mers can be classified inty.
141 On the basis of time, agricultural credit needs of the Inciar far

A. Medium term loans from 15 months to 5 years

B. Short-term loans up to 15 months

C. Long-term loans beyond 5 years

Choose the correct answer:

(1) A& B only (2 AB&C

(3) A & C only _ (4) B & Conly

5000 (K50000) BrrRYom, grt&ah §ebe Seah thea ©5DTeN Qe HOEBoINS),
A.15 30® 506 5 HoS&mRe SEH-HESOE theeen

B. 15 d0® 385)-1@);5265 thezeen

C. 068) (5) H0siéh o) padid HYSOS thewen

N8R D&rmeaed, d0HE dabod:
(1) A & B 50¢8ah A BE&C
(3) A & C Spghal) (4) B & C &ogdal)

142, India’s position/place in the steel producing countries in the world in 2015 was:

(1) Second largest steel producer (2) Third largest steel producer

(3) Fourth largest steel producer (4) Fifth largest steel producer
201560 05088 6 (I6) 6@ 57 Beeed groedivo Foso:

(1) Botis O8I &%), 68, Smeth @5ares 0ss &), 68 Bt
(3) Y OB 65, 5SS (4) D6 083 &), &8 8w

143. One of the following. programmes was ennounced in the Union Budget fur 2022-23 to

develop ropeways in hilly areas in India:

(1) Bharatmala (2) Girijanmala (3) Parvatmala

ERUSHI0D 5905 Domeed® H5OTes @éla’bﬁ TN T T I
S0l 50Ese0 e 2,58 Hx¥8o8nt00:

(1) RS (2) AB22:55520)

ﬁg@ﬁﬂm (@) 38R

(4) Skywaymala
2022-23 So8 2Gd&"
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ses, Waztch the following: |

145,

Institution, : Chairperson/Advisor
A. Chief Economic Advisor, GOJ 1. YV. Reddy
B. Chairperson of National Bank for Financing 2. N.K. Singh
Infrastructure and Development
C. 14* Finance Commission of India Chairman 3. KV. Kamath
4.V. Anantha Nageswaran

Choose the correct pairs:
(1) A-2; B-4; C-1 *(2) A-4; B-3; C-1 (3) A-4; B-1; C-2 (4) A-1; B-3;C-2
806 a763R 228855508 ,

0% - o B6%,5/50H5m
A ST @B HoiHER), 308 S0 19.3.0¢

B. 931N 27,05 516 e of 2w 56 ok ESe,085 © 2. 988 h0f
BOHY® :

C. andd &34 1455 Def KHogno 36,8 3. KV. 5050&

4. 3. 950 ARAFTR
335 e Qo Sabod:

(M A-2; E't--;-l- C-1 @ma*ﬂ -3; CA (3) A-4; B-1; C-2 (4) A-1: B-3: C-2

Read the fnitnwlng statements about the ‘Mahila Shakti Kendras’ (MSKs):
A. It is a Centrally- spnnsnred scheme.

B. The shares of Centre and States are in the mtln of SD 50.
C. The scheme is meant for the ruml women Empuwerrnent
Choose the correct statement(s):

MAB&C (2) A & B only (3)Bonly
Wree 48 Somee (MSKD) (D00 308 T SES0E:
A. 20 Sogl Peciresss HEEO.

B. Sotio- -GREPe) SFRETReD 50:50 A2, 8° sae,0n. -

(4) A &C only

€83 56580 e Hinwe Jepse05E 5550 éganémﬁaﬁ

AT () auzaéfﬂu‘ﬁn&
MaB&C p 'lZJA&-EEiIaﬁag
3) 8 Sresd Tl (4) A & C ci7egs 55,
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146.  Match the following schemes Introduced by the Telangana governmentto help the handloom

147.

56

weavers with their core objectives:

Scheme/Programme Objective/purpose

A. Chenetha Mitra 1, Thrift fund scheme

B. Nethannaku Cheyutha 2, Reducing the burden of interest on handloorn weavers
3, Input-subsidy linked wage compensation scheme

Choose the correct pairs:
(1 A_-E; B-2 (2) A-2; B-1
(3) A-3; B-1 - (4)A-1;B-3

336 $0,H0 KHsaH0 S0HmAE Boomes HEhHeo Had NEK 08 HETel ant)
2I5TeR) E}gg&:@ﬁ BdDYS06: :

RS0/ me s & éﬁh}mgén |

A 356 e | 1. i) AQ (B Ho&) Hesso

B. 3,5 cIofieds - 2.83¢ 3¢ HAa03 6 8700, $00SE0
| 5 " 3. 28%5-50,8 Do§ S5 HOE0 He5Lo

N0 20 QodE Bdohod:

(1) A-3; B-2 g (@ A-2B

(3) A-3; B-1 (@A-1;B-3

As per the new Industrlal Policy Framework for the State of Telangana 2014, which of the

following categories were covered for receiving financial/fiscal benefits?

A.Women entrepreneurs. B. Micro/small enterprises
C. Medium enterprises D. Large industries
© Select the correct answer:
- () A&Conly (2) B & D only (3) A, B &C only (4)A, B, C&D

B0 m@a e ap0ZSLE RN SO0 (B 66, 2014 FHsedo, @85/
0o Moo 5550 806 §0Rbesd HO 556 Wahereow?

A. sDaro a0 ZeLED e B. 0o/, B8 Hogen
C. 85265, 86555 Hoen D. ¢S HOFsen

- DR DargRaed) d0h8iod;
(1) A & C &i7e¢b ' (2) B & D &5egiad
(3)AB&CHRED | (4) A, B, C&D
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5. Match the following sectors with regard to highest share (%) of power connections in the

149,

districts of Telangana as of 2020-21:

Sector of Highest % of Power Connections

District
A. Agriculture

1. Ranga Reddy

B. Domestic 2. Medchal-Malkajgiri
C. Industrial 3. Medak ;
4. Hyderabad
Choose the correct answer:
(1) A-2; B-1; C-4 (2) A-3; B-4; C-2
(3) A-4; B-2; C-1

(4) A-3; B-2; C-4

2020-21 &0t} Soomees 2epdd AHS SIER0? WS HE detm (%)H Sowodod) §0d
Borre®) H0206& BeROE 2EHES0E : |

08,5 % At ¥IEN tfe Botfo e
A. HB5RR0HO 1. SomdE
B. tf)s50/&0ahn)5 2. abes-aen,e3io
C. OFDE/Q0L5NONS ERS AL
4. 3ecSovend
N3 esaPeNN Q050
(1) A-2; B-; C-4 [2) A-3,B<4; C-2
(3) A-4; B-2; C-1 (4) A-3; B-2; C-4

Which of the following statements are correct in relation to the Ramappa temple in
Telangana?

A. This temple is located in Mulugu district.

B. It was declared as the 'World Heritage Site’ by the UNESCO in 2020.
C. This is also known as Rudreshwara temple.

D. Floating bricks were used in its construction,

Choose the correct statements:

(1) A&Donly (2) B & C only

{3) A, C & Donly (4) B,C&D only

[P.T.O s7



B0 Teal), thHES 5020002 800 TR HBEHHI &)
A. 83 tHE Swenth 8geed &0b.

B, 0%, (UNESCO) HAR 0085 aBiieh 0D 2020658 HEEI006.
c. 532 H3%H Baeedho O KRt denged.

0. 53 ATR,£a00 BO0HRE BENFLR &DCIRAOTE.

0% o@D dotHE0G: |
)R & D Srgad ' (2) B & C 570853
(3) A, C & D regad (4) B, C & D 508801

150. Which of the following census recorded the lowest sex ratio in India?
(1) 1981 12) 1991 (3) 2001 (4) 2011
_(:@ﬁ & e3e2Te Hego0seeSd 23ss G050 i;-‘s’.ntbﬂ a8 €500 NARG0E?

1981 @’1991 |
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